Unit SDay VAFM Notes: Trigonometric Ratios
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If only 2 sides of the triangle are given, use the R F-Lb

Pythagorean Theorem to solve for the missing side

onN a% 5 [P = g
aand b: c: nus
>v52> db \QSS bgg@QAQ USé,

—+—To solve a triangle means to find the lengths of all the sides and the measures of all the angles.

o If only 2 sides of the triangle are given, use the Pythagorean Theorem to solve for the third siﬁ. c.
o If one side and an angle are given, use trig ratios and the calculator to solve for the missing =
sides. b
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Find the valoe of the trig function indicated. [0 a\ oL - '7
1) sc 8 . { -—i 2) secd . \% / ¥
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Find the value of each. Round your answers to the nearest ten-thousandth.
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Find the value of the trig function indicated.

7 cot 8) 1n @ I I ’ 3
- Z:i‘ 52 25) Fmdcscdifl:mﬂ:%
15 7 s
20 5

26) Findcot § if sec =2

=

A2 =2

27 Findunﬂifsin9=% i‘_ 28) Fmdcoleifsec9=§

S =

— Wi
—

e

.

2.

§_}\U\ ()5 ()A\@\

29) Find sec 6 if sin § =—— 30) Find cot @ if sin 6=l—2
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Critical think questions:

31) Draw a right triangle that has an angle with a ) What is the slope of the hypotenuse for #9?
tangent of 1. ow does that compare to tan §7 Why?
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AFM Notes: Drawing Triangles in the Coordinate Plane

Given a point P in the coordinate plane, let P be on the terminal side of an angle
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0. Let P= (3, 4).

as the base of the triangle
as the height of the triangle.

to find the length of

EX. A point on the terminal side of &
indicated angle.

is given. Find the exact values of the six t

To draw the triangle: A
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Use the puts dann
- the hypotenuse. | )
P = 4 Find the 6 trigonometric ratios of the indicated angle in the
resulting triangle.
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rigonometric ratios of the

. P=(4,38) If one of the coordinates is I\ 1V Qthat just means
: Adj.=4 that the triangle will be ___ e, cdo o '
Draw a right triangle using the X_—( QQ(‘A as the base
N of the triangle. '
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‘ - Find the 6 trigonometric ratios of;he indicated angle in the
[ l f resulting triangle.
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Find all 6 trigonometric ratios of the following by drawing the point in the coordinate plane:

1. (<12, 9)

2. (3,7
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